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Answer all the questions.

Questions arc of equal value.
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INSTRUCTIONS

idates should read the following instructions carefully before answering the questions:

1. This booklet consists of 48 pages including this front page, containing 200 questions. Verify the b r
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice

any discrepancy.
2. Answers will have to be given in the OMR Sheet supplied for the purpose.

Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will

result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to you to be correct
or the best. Now darken the circle corresponding to the letter of the selected answer in the

OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spotin any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more than one circle is encoded
for a particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking of 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

Sheet should be handed over to the Invigilator before leaving the Examination Hall.
fo take away the used Test Booklet after completion of the examination.
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ﬁflwhlch of the phrases below is the term
blog’ an abbreviation?
(A) weblog *
~ (B) webblog
(C) web blogger
- (D) web blogging
5. Selecttheidiom that bestreplaces the words
in italics in the following sentence — You should
review your options caréfully before you make a

fon.
Gt n?.ﬂ.] make hay while the sun shines

(B) sit on the fence
(C) look before you leap
(D) kill the golden goose

3. Fill in the blanks with the correct set of

words.

She was not interested _____ taking
French,butdecided____opt___ Germaninstead.

(A) in; up; to; for

(B) to; on; in; with

(C) on; to; for; on

(D) for; to; in; to

4. Choose the word that best replaces the
italicized words in the given sentence — In earlier
times, rebels were executed for killing the king.

(A) homicide  (B) regicide
(C) parricide (D) fratricide

5. Select the word that best replaces both the
italicized words in the sentences given below:
Sentence (i) — The managementdid not find him

suitable for the job.
Sentence (ii) — He was not able to arrange all his
belongings into one suitcase.

(A) good
1 (B) apt
- (C) fit
(D) cram

6. Identify the incorrect pair
- (A) Kidney discases — urologist
(B) % B_!nud-relaind diseases—haematologist
(C) Diseases of the stomach —
~ Bastroenterologist
arious types of cancer — oncologist
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4. Choose the word which is the anor
‘Chide’. B
(A) Scold
(B) Chastise
(C) Praise 3
(D) Arraign b
9. Whichofthe following is an auxiliar y ver
(A) Look -3
(B) Can o
(C) Take 3
(D) Do " - X

10. Who is a ‘psephologist’? 1
(A) Someone who specializes in statistic
studies of voting patterns in elections,

(B) Someone who specializes in a certain
branch of neuropsychology. :

(C) Someone who specializes in a certain
branch of astrophysics. .

(D) Someone who practises Freudian'
psychoanalysis.

acal

11. Correctly change the following sentence to
the active voice, using the appropriate punctuation f
— My daughter expressed her preference for
History over English. |

(A) My daughter says ‘I prefer History
over English,” o
(B) My daughter said, “I prefer History

over English.”
(C) My daughter tells — ‘I prefer History
over English.’
(D) My daughter told, “I prefer History
over English."”
12. Fillinthe blanks with the appropriate group i
of words. 3
He has meticulousin ____ the

project, rise to irregularities.
(A) not being; overseen; given: much
(B) not; oversaw; give; more
(C) not been; overseeing; giving; many
(D) not be; oversee; gave; much

13. Fillintheblanks withtheappropristewords,

Weneedto___this matter B
thoroughly. - . T
{A] !dﬂk i.l.'l.tD; mm i : : -T__.‘____. LA

o 'y A i JEERL 1 .lf‘r-'
 ® lookimmost
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26. Who t“n.ﬂd:*mﬂ:nngrcs:sisinmalit}'
a civil war without arms™2

(B) M. A. Jinnah

(D) Lord Curzof

27. Who was the Tenth and Last Guru of the
Sikhs?
(A) Guru Ram Das
(B) Guru Hargobind
(C) Guru Govind
(D) Guru Tegh Bahadur

28. The Vaikkom Satyagraha was launched in
1924 for

{A) opening the temples to the low castes
Hindus.

1 (B) fighting against the exploitation by
the landlords.

(C) removal of Press restrictions.

(D) democratization of the administration
of Travancore state.

29. A, B, C, D are four friends. C is older than
Dbut younger than B. A is older but not elder most.
Arrange A, B, C, Din ascending order of their age.

(A) D,C,A.B

(B) C,D,A,B

(C) D,C,B, A

g (D) B,C,A,D

3!]. Whjch of the following pairs comprises of
the smallest and the largest endocrine glands of

mpgﬂively?
Pituitary-thyroid

( .- ',_,;- ﬂ'PimilﬂlT_if:‘ K
(C) Pineal body-ovary
(D) Pineal body-thyroid

W
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27. P R O CR oFA TR M
(A) oF FETH :
(B) oF TUIRA
(C) & CME=
(D) ©%F (S5RETA

28. SRIFE HAENLZ 1924 AN @ &= A5
fem—
(A) s =eer e w0 SR e
L (ST &
(B) ce=iEgrdn T s meit amm
& |
(C) FRametEn oz RrayTes FaaE o=

(D) IMEMER AMEA I SRR
(=)

29. A, B, C, D51 ¥§ | D43 (¥t C 37w, By
B-93 (R0 (RIUST 1 A T0%I, % e e 3w 73|
T S A, B, C, D ST 203 7@ |
(A) D,C, A, B
(B) C,D, A, B
(C) D,C,B, A A
(D) B,C, A, D AV




31 The first Satyagrahi sclected by Mahatma
Gandhi to launch the Individual Satyagraha in
October 1940, was

(A) C.Rajagopalachari
(B) Vallabhbhai Patel
(C) Dr. Rajendra Prasad
(D) J. B. Kripalani

32, Complete the letter series
sl 8 trss
(A) trsr
(B) rssr
(C) rsir
(D) rtsr

55t

33. After the Surat Split in 1907, the second
split in the Congress took place in 1918 on the
issue of

(A) Lucknow Pact

(B) Montagu Declaration

(C) Election of Mrs. Annie Besant as
President of the INC (1917)

(D) Both (B) and (C) above

34. Find the number, in the marked (?) position.

b

2

BWP/23

3. 194067 SEa = Wl ST FEAS
wepa® il afesrwerm sz e e,
feft zree

(A) . Fremsnsiemsifa

(B) TEEERE AMba

(C) ©. Aere =W

(D) o=, f. e

32, = el ©ff =
sl 5
(A) trsr
(B) rssr
(C) rstr
(D) risr

rsst

trss

33, 19079 I 24 TIEHE A7, 191805
AP T 16 ME (U WhAICE (R A U =
(A) FETA &
(B) wroe fafe
(C) wem e Feidfe sy
i e e s 3 (1917)
(D) T+ (B) @32 (C) T&A FACH &

<2
A

(A) 6
(B) 19
(© 11

(D) 1
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38, Which of the following would have
inflationary effect on the economy?
1. RBI releasing new bonds in the market
2. RBI decreasing the SLR—
3. RBI increasing the Bank Rate
4. Abolition of CRR
(A) 1,2and 3
(B) 1 and 4 only
(C) 2 and 4 only
(D) 3 and 4 only

36. The term ‘Political Justice’ is mentioned in
the Indian Constitution under which of these.

(A) Only under the Preamble to the
Constitution of India

(B) Under both Preamble and Directive
Principles

(C) Under Fundamental Rights and
Directive Principles

(D) Under Preamble of the Constitution
and Fundamental Rights

37. Two drops of liquid merge io form a single
drop. In this process energy is
(A) absorbed.
(B) released.

(C) may be absorbed or released
depending upon the specific heat of
the liguid.

(D) neither absorbed nor released.
38. Inlndiathe state with highest yield of Pulse
(Dal) per hectare
(A) Madhya Pradesh
(B) Rajasthan
(C) Gujarat
(D) Uttar Pradesh

. (C) =2 HieeifeFs Sz evfz fda ==

B-6 -
35, Gl SrTeR WEeTS T
At i
1. @i RBI Ag T8 2311 7
2. RBI SLR 3=107%
3. RBI Tit% T4 Al
4, CRR %359 ¥ T
(A) 1,263
(B) ©y 164
(C) By264
(D) vy3e4

36, SIS HAITH (3 S FEATEE
uraa Tord wE .
(A) erTa SEEH AR SEEem

(B) =rral e e e — Eon wree

(C) cferwfes 6 fofage Tfe —Sen

e

(D) =Wt 6 chffe Sitwe — oy W

37. TATa A w1 w= e T 3 i T ofae
77, % =fnm =fes

(A) el %7 |
(B) 1f& ==

IR 3 35 20T =iz |
(D) cre B 9fe @B1E == 1)

38. ST BT AT (%37 2% St A
(A) SHy=rm=
(B) e
(C) vemrs
(D) TaEasme

39, Arefeemm mreTer mRe T e
fae'-qa st Srwy §ie

(A) =rewamya i
(B) =t aferema Hfaw
(C) = Fiwa

©) PR
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40. Where is the Headquarter of the Asian 40, i<~ e RE e o wrfem

Pacific Postal Union? o wafgsy i
(A) Manila (A) =
(B) Bangkok (B) Tita=s
(C) Colombo (C) =ore)
(D) Mumbai (D) THfE

41. Which is the reducing agent in the thermit 41, CFRRGE e cramaten e wifil sefecs
reaction carried out for repairing of the railway @ e «md Tame o, A

track? (A) ST =HEs
(A) Iron qxi_dc (B) mﬂltﬁfﬂﬁﬂﬂ
(©) Aluminiam ovid (©) fifam vt
(D) Iron metal (D) HI=3 =hEEA
42. The Rourkela, Iron and Steel Plantis located 42, ST GTE € TS TTHAH TS g -
in— (A) T =R
{A) Coal mining area (B) Mz wwm
(B) Iron ore mining arca (C) T & G T e
(C) Rgglinn between coal and iron ore (D) W e ;
mining area .
(D) Damodar Valley ¥
43. A stood 10thin the class, while B ranked 38 43. Class-4 A rank C*TT= 10 932 B C{0E 38,
from the bottom. B's result is better than A and 8 (<75 | B3 GErD A (YT S O3 S
there are 2 students between A and B. Total number HETE TR 2 & St e | e Pl
of students are e
(A) 40 (A) 40
(B) 41 (B) 41
(C) 42 (C) 42
(D) 44 (D) 44
44. Forests having no free entry by people in 44, SIS (4 FTGHCS T o SRR R—
India— (A) e T
(A) National Park (B) wEAHT
(B) Wildlife Sanctuary (©) weafFs SAT
(C) Reserved Forest (D) FaFwS T2
(D) Protected Forest
Please Turn Over
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51. Ocean Thermal Energy Conversion—
process was used for energy production in Indiain

(A) Kolkata

(B) Haldia

(C) Madras/Chennai
(D) Paradwip

52. Whichof the following is not a fundamental
duty under the Indian Constitution?

(A) To protect monument of national
imporiance

(B) To develop scientific temper

(C) To uphold unity and integrity of the
nation

(D) None of the above

_ 53, Identify the substance which can dissolve
in water:

(A) Glucose

(B) Urea

(C) Acetonc

(D) All of the above

£4. The youngest President of the Indian
National Congress, who held that office at the age

of 35, was
(A) Rash Bihari Ghosh

(B) Subhas Chandra Bose
(C) Abul Kalam Azad
(D) Lala Lajpat Rai

55, Which Union Ministry is associated with
the pilot phase of The Open Network for Digital

Commerce?
(A) Ministry of Commerce and Industry

(B) Ministry of Home Affairs
(C) Ministry of Electronics and IT

e
“ad
L ]

)

31 T ~
s %Tm En:rgndm'm’lmm‘
(A) warem
(B) =fum
(C) wrame psuiiee
(D) #Aratdist

52. T BftfRe e S Eu ARG HYEe
ciifere wdag Tt

(A) B e ooged Gl T ==

(B) Tamtg wepiEeira i A w1

(C) SrTEa & 6 il FIU 6 Hraw
w2

(D) B ceiA0E =1

53w BhEs o, a5 (e e W—
(A) H=S
(B) LR
(C) =T
(D) Teiema FaofHE

54, NI 35 TR T (U WIS SO T
weeis waEE, oW W
(A) THRZR
(B) =M b (T
(C) S FEH e
(D) I FrETs A

55, (@ P NETS! ARG (| S Y ST
meméwﬁﬁ__ﬁmwﬁa Hire wigee
{Mﬁﬁﬁwmmm
(B) ﬁﬁmwmw
(€) ﬁﬁﬂwmﬁﬂmm

(D) None of the above

i i
e
L1

Alaiad
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(D) SR OGN TR
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wr of Bengal, the two pew
Fﬂ%hﬂtr:;?:hﬁﬁ inio existence were
(A) East Bengal and Dengal
(B) East Bengal and West Dengal
(C) East Bengal and Assam
(D) East Bengal and North Bengal

£7. In an examination. 33% of the candidates

failed in English, 65% failed in Mathematics,
whereas 24% failed in both. Find the percentage of
candidates passed in the both subjects.

(A) 4%

(B) 45%

(C) 5%

(D) 535%

58, The leader of the Ghadar Party in Bengal
and Orissa was
(A) Jatindranath Mukherjee
(B) Jatindranath Das
(C) Barindra Ghosh
(D) M. N. Roy

59. The major share of expenditure in the Union
budget 2023-24 goes to—

(A) Interest payments

(B) States® share of taxes and duties
(C) Centrally sponsored schemes
(D) Subsidies

60. Which among the following Indian city has
hosted the ‘Khadi Fest-2022" Exhibition?
(A) Ahmedabad
(B) Chennai
] Mur;M

110

<6, awsrwa i b A moun g
o e a
(A) w0 ame gat Ao
(B) *f4 e wan w5y aom
() #f o g wpm
(D) i aren o Sow A

57, wafl «iwn Leadics S5%, W 65%
wbre® 24% o Rt o e 140 foret oo
Y L

(A) 4% :
(B) 4-5%

(C) 5%

(D) 5:5%

g8, wtow wat affem e woma Gret iR
(A) T gfel
(D) wEmreae vy
(C) o1¥m oure
(D) W, W4, 1

59, 202324 Mona (el seede wivee o
CO14 w10 Y Y

(A) ¥ wffaeeny

(1) cwdfty wreecy wrenofng sty

(C) codity syhewrmaremy v wigew
(D) w§fe

60, wirzanes care ez " 082022 el

o ﬂ‘
] ..l-i"'

wifbe
(A) WTRTHIAM
(B) @nft
(C) e
(D) i
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T1. A drop of water i broken into two drops.
The sum of which property of the two drops is
equal to that of the single one?

~ (A) Radius

(B) Surface area

(C) Surface energy

(D) Volume

72, Whichneighboring state of Indiahas marked
its 75th independence anniversary on 4 February,
20237

({A) Bhutan

(B) Nepal

(C) Srilanka

(D) Bangladesh

'73. Which country has builtan ‘ Artificial Moon'
project?

(A) USA
(B) China
(C) Russia
(D) Israel

74. A man encashes a cheque of ¥ 6000/- from
a Bank. The Bank pays him in 200 rupee notes and
100 rupee notes, totalling 48. The number of 200
rupee notes is

(A) 20

(B) 12

(C) 36

(D) 24

- 75. Which Mughal emperor was known as
Alamgir I?

(A) Akbar

(B) Jahangir

(C) Aurangzeb

(D) Bahadur Shah II

wlin Cwie wmla criemen G AT AR A

BWP23
71, B i e cere 4 wem offaTE = 1240

(A) =y ’
(B) s cwaa

(C) =t =fes

(D) =mres

72, SlATEA (3 =feradl A% 4 crzAmfa, 2023
AR 75T MEE fFan oA St
(A) B
(B) %@
(C) SHrere
(D) Ao

73, (%F 7 *Artificial Moon® (Ff3 b®)-a=
W ST TR
(A) AR gwary
(B) B
(C) #femm
(D) ZErIE

74. T6000/- @3T 5%, Bank-4 STEME (o0,
Bank 200 5@ € 100 b2 16 i calb 485
15 G | 200 DI (RITha F TS ¢

(A) 20
(B) 12
(C) 36
(D) 24

75. @W 9 UG 2w wEEE A AR
ferem?
(A) B
(B) @I
(C) AT
(D) o ARTTA =12
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awmcn city is the Headquarter of
‘EMSTEC ? g :
 (A) New Delhi
(B) Colombo
(C) Dhaka
(D) Jakarta

77. Which Mughal emperor granted ‘Farman’
in 1717 to the British East India Company?
(A) Bahadur Shah 11
(B) Shah Alam Il
(C) Farrukhshiyar
(D) Muhammad Shah

'

78. In India Aman rice is cultivated during

(A) sownin §. W. Monsoon season and
harvested in winter.

(B) sown in S. W. Monsoon season and
harvested at the end of the monsoon.

(C) sown in summer and harvested in the
monsoon.

(D) sown in early summer and harvested
at the end of the monsoon.

79. Combine three resistors 3£, 45Qand 302
in such a way that the total resistance of this
combination is maximum with value

(A) 1250
(B) 13.50
(C) 14.5Q
(D) 16.50

80. Suppose xsy = x+y,ifx<y
_ = x—y ifx>y
._:.f- =1:,if.t=y

;';5 l2&l+{5-7}¢

f{_; .H .rr,l
(D) 19

+51M5TEC‘-415' il e

- (A) FaSm IR MR
(8) fadim =% =
(€)

(D) T=T 1R

8. ST AR ¥ BICEH Fad
(A) mﬁfﬂmm
(B) i I T G :.kr'
©) 2 wi‘rﬁiﬁﬂﬁm

(D) T 29[ Fe ®
=01 ZH |

79. =M @ 50, 4.5 Q631 30 IS
=7 T (1 SIHE AR TH T3
(A) 1250
(B) 1350
(C) 1450
(D) 16.50

80. xsy= ,\:+y,‘!lﬁ.t{j'_.

= x-y,Mx>y

= o TRx=y
T e a2 q_-,.
S+(1+2)+(5+7*2
(A) 20 g -
(B) 21 2
(C) 22 S
(D)[197 S5




81. The major percentage of Central
Government subsidy in 2023-24 i< on

{A) Food

(B) Interest
(C) Fertilizer
(D) Petroleum

82. The word Congress was borrowed from
(A) TheCongress (Parliament) of the USA.
(B) North American History, to connote
an assembly of people.

(C) The Congress of Trade Unions.

(D) The Congress of World Religions at
Chicago.

83. Choose the comrect diagram to represent
books, bengali books and novels.

)

o
i

84. Find the value of

81. 2023-24 HTA (3 (FH A0S SEF HAWH
0T T TRR FATRT
(A) =]
(B) =T o
(C) 5=
(D) cridfEmms

82, LR A a1zl A T
(A) RS Terare? T @F |
(B) Ta wme HewA (U, T
GAHS (AT |
(C) @ BefFmTa FIA (VT |
(D) e ! STREH (3T |

83. #f3e fba @G, @b B, TEM R N
BT A e

(A)

18
CI;




i Wﬁl:h of the following is not regarded as
iblic expenditure in India?
SN (A) Subsidy giventolocalcity bus service
(B) Defense expenditure

: (C) Interest payment on national debt

! (D) Investment spending by public
' companies

86. Who gave the tile of Rani to the Naga
women leader Gaidinliu?
(A) Subhas Bose
(B) Jawaharlal MNehru
" (C) Thakkar Bapa
(D) Mahatma Gandhi

87. What happens when the potassium iodide
solution is added to a solution of lead nitrate?

(A) White precipitation of lead iodide is
formed.

(B) Yellow precipitation of lead iodide is
formed.

(C) Red precipitation of lead iodide is
formed.

(D) Black precipitation of lead 10dide is
formed.

88. Which country has awarded Ardeshir
B.K. Dubash, the ‘Orderof Meritin the Diplomatic
Services'?

(A) Canada
(B) France
(C) Japan
| LS (D) {Reru
_:_ .""1'.1.#- E ; R

e

In India the centre for Coffee Research is

(C) Ch
(D) if._:r_-i..u

(C) e T A
(D) T it A R

{B} Mmm L

=~ iy
i
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Name the Chalukya king who defeated
vardana,

(A) Pulakeshin |
(B) Pulakeshin 11
(C) Mangalesh

(D) Kirtivarmana

91. l]jll G:-mg_ndhnr Tilak introduced the
Ganapati Festivalin 1893. He held the first Shivaiji

festival in
(A) 1884
(B) 1885
(C) 1896
(D) 1897

92. The Diamond Quadrilateral of India will
connect

(A) India’s four main megacities by
superfast railway services.

(B) India’s four main port cities by
superfast railway services.

(C) India’s four main airports by superfast
cargo airplanes.

(D) India’s four main industrial cities by
superfast roadways.

93. Name the first newspaper in India.
(A) Parthenon
(B) Digdarshan
(C) Bengal Gazette / Hicky's Gazette /
Hicky's Bengal Gazette

(D) Samachar Darpan

94. There are 75 questions in a question paper,
each carrying 2 marks. | mark is deducted foreach

questiunansw:mdiumrmcﬂy.hstud?mansweﬁng

all the questions got 45 marks. What is the number

of questions correctly answered by the student?
(A) 42

(B) 41

BWP23

o), T Bl wre e Hfarfers S0
(A) =9 sl
(B) fadm sl
(C) =0
(D) Sl

91. 1893 HIA A sriea o o +ifE Beom o
wrafer | fef s foarie S0/ oF sEkrEm—
(A) 1884
(B) 1885
(C) 1896
(D) 1897

92, EETEd £ Fri Y [E A

(A) 2ym 8 wEERTE EEAEl G
w{farEan |

(B) zy= sft =5 ==a0F wEAE GE
#TETEam |

(C) = 8ff fawmamars wesnal N
|

(D) =y 8ff fam =zare T AeaHid |

93, SIATEA YT HIEWALLS 4
(A) =
(B) Fisps
(C) = ooieet | Bfe'w oowed | Bfew
T CSITED
(D) 1B #eiet

94, <= =aeea 75T = wm gat o6l amm
52 2 | =ffeft = TwEa ey | T R = IR
¥4 72 Twa e Eme w3 rmidl 45 793 «im, A
TEE A TS

(A) 42
(B) 41
(C) 45




9 ﬂg following accounts for the
h l.' h nmnunt spent on Indian imports?
Capual Goods
} Gold and Silver
(C) Electronic Goods

(D) Petroleum, oil and lubricants

96. In India the Food Processing Industry is
most developed in
(A) West Bengal
(B) Gujarat
(C) Andhra Pradesh
(D) Haryana

97. Socio-economic planning is a part of
(A) Union list
(B) State list
(C) Concurrent list
(D) Reserved list

 98. Which amendment of Indian Constitution
is related to the Anti-defection law?
(A) 51st amendment

(B) 52nd amendment
(C) 53rd amendment

(DJ 54th amendment
s

99. Let,'P -_n{ﬂ Dn-2)....(n—-r+1),
} ‘lcmmsuchmmlf.rgn If

07, - AR e

(A) ZEfiTe =fert
(B) FrE

(C) 3 =it
(D) wEfFs e

98, S WRUEA @FH FACNY
ﬁ@l‘lﬁ’[tﬂﬁfﬂ'ﬁ AATE?

(A) 519% A=

(B) 529 AT

(C) 53%T A==

(D) 5459 Agmiys

. "P.=n(n-1) (n=2) = "t-'-{r--:
l=rsn, Mﬁn,rﬁwl '._r‘::.:-

A A Iy ; J;
(A) 10 r
(B) 12 49
(©) 20 2

._tl’;i; 16



| 100, Who wrote the book *Amuktamalyada®?
(A) Madhabacharya

(B) Ramanuj

(C) Knshnadevaray

(D) Maladhar Basu

101. Cause of myopia is
(A) contraction of eyeball.
(B) expansion of eyeball,
(C) dryness of optic nerve.
(D) All are true

102. Where was the first Buddhist Council held?
(A) Vaisah
(R) Pataliputra
(C) Rajagriha
(D) Malava

& 103. Which sportsperson has been named as the
IBRC Sports Personality World Sportstar of the
RYear” for 20227

(A) Rojer Federer

(B) Neeraj Chopra

(C) Lionel Messi

(D) Serena Williams

104. Which one of the following is not a feature
of Indian federation?

(A) There is an independent judiciary in
India.

(B) Powers have been clearly divided
between centre and states.

(C) The federating units have been given
unequal representation in the Rajya
Sabha.

(D) Itisthe resultof an ngrecmcutﬂnnng

the federating units,

(A) Bfstpores HUFHA
(B) wiyrmeres =i
(C) == w99
(D) #a=h fi=

102, == (Ine A coiem HAe Tt
(A) Tz=iit
(B) #ibfeE

(C) wre R
(D) =m1a

103, o Ererfeecs TR ool sme-inb
g o BE ww W T 2022 Rl w
- i ] 4

(A) WA CFEaT
(B) e oot=r3!

(C) fmerm =i

(D) G R e

104, Fsfifie femof wug @ml erd
TEARE LR Tt
(A) SrTER = TN gHETe S|
(B) @ 6 FEafFE W Wl e
25 71 T
(©) mmﬁmﬁlm
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J?W: IIH. wﬁahknownul.m F_mnturlndin 7
{M Jimutavahana :
(B) Al-Beruni

| - (C) Ibn-Batutah
(D) Amir Khasru

106. The historical importance of the second
session of the INC held in Calcutta in 1886 was
that—

(A) There was merger between the INC
and the National Conference.
(B) It was presided over by Dadabhai
Naoroji.
(C) The great scholar Rajendralal Mitra
was the President of its local Reception
Commiltee,

(D) All of the above

107. The first cotton textile mill, in India was set
up in
(A) Kolkata - Ghusuri
(B) Kolkata - Sinthimore
(C) Nagpur
(D) Thane

108. Mahatma Gandhi presided over the Annual
Session of Congress only once at

(A) Kakinada, 1923
(B) Belgaum, 1925
(C) Kanpur, 1925
(D) Gauhati, 1926

109, Name the Sultan who first organised
uxpedmuns to conquer the Decean, B

BRR(A) Alauddin Khalji

T T

O e e ST R
e FAEIEH 6 B W
& o Acie TofEl
(B) AMTETZ 12 o o7 Teifeg 3 fieg
(C) +foTzan AEE= fra a7 A
=fafba Ae1Afew m.
(D) EoATas FAE0L

107. G SIATEA 29 e e Te
(A) FErre, FE-ce
(B) =ferer Bifva as :
(C) stz -2
(D) 4TA-CE ,_
.'-.
108. m'ﬂﬁlﬂmmuﬂmqﬂ% G
Fervifey wtaferm= cift ==
(A) Fife=rel, 1923 '
(B) cg=she, 1925 '
(C) =we3, 1925
(D) ¢z, 1926

109, mﬁqmﬁwﬁ’ﬁaqmﬂ

(A) GEERR =81
(B) <=1
(C) Frtare W

(D) TZw-fam




110. NEAT 3.0 is a platform associated with
hich Union Ministry of India?

(A) Ministry of Education

(B) Ministry of Health and Family Welfare

(C) Ministry of Commerce and Industry
. (D) Ministry of Corporate Affairs

111. When is ‘International Customs Day 2023'
observed?

(A) January 25
(B) January 26
(C) January 27
(D) January 28

112. What is the name of the new department
created by the Reserve Bank of India in 20227

(A) Department of Artificial Intelligence
(B) Department of Fin-Tech

(C) Department of Data Science

(D) Department of Digital Currency

113. Name the Sultan of Delhi who first
introduced the north-west frontier policy.

(A) Htutmish

(B) Balban

(C) Raziya

(D) Alauddin Khalji

114. Under the rule of which emperor Nalanda
University was founded?
(A) Samudragupta

BWP23

110, ®leania oo celim suren 7104 *NEAT 3.0°
il wile ¢

(A) Tl e grmsa

(B) R e o et e emmera

(C) Tty w wand e 2ol

(D) fufaly s efival o -

111, ‘sryeiifes sp5w e 2023 o9 SR
g et #fre gue

(A) e 25

(B) wrmfa 26

(C) wiuifa 27

(D) wufa 28

112, Srreara ferd ame 2022 ACA FH 954
T 7R St
(A) fenilicet = it T e
(B) TeHbmD = fiF-0
(C) FeoAlers = cebl A=
(D) fenibmt = fefebm i

113, Tafera o sperete =vm Saa-+ffess Arare -ife
T ALAN T
(A) Torgefie
(B) Fe7%
(C) arfem
(D) e werd

A
114, Co HENBA = e P e
Hr J o + W

(A) FHOY o |
(B) f&dh vrroe PrEe
1 (C) #9od
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= B
cter of a triangle whose sides are

Tl
3 — ! — is 30 cms. The length of
. _lhnrluom 5 !215 EHEES gth
h‘[ggmﬁdch

(A) ?Ecms
(B) 10 cms

1
12—

(©) 127 cms
(D) 7cms

116. Who was instrumental in founding the
National Planning Committee (the forerunner of
the Planning Commission)in 1938, fordrawing up
a plan of economic development on the basis of
industrialization?

(A) Subhas Chandra Bose
(B) Jawaharlal Nehru
(C) Mahatma Gandhi

(D) Maulana Abul Kalam Azad

117. Inwhichissueofthe following Rajya Sabha
and Lok Sabha enjoy equal power?

(A) Amendment of the Constitution
(B) Removal of government

(C) Introduction of money bill

(D) Creation of new All India Service

‘The Easfcm!ﬁnu]a f Indiai
fEmne tmI tion of Y¥as of India is known

(A) In

) Orn

(C) Lichis
(D) Mangoes

B-22

awedd Sfiw foafes, ﬁrﬁmm foR
weftAfes R +1e oz FRree

i1

— cms
(A) ?2
(B) 10 cms
1
2 — cms
(C) 1 2

(D) 7cms

116. 1938-4 (= =S AfATwA1 3

(A) *ER b¥ GH
(B) SR CTEF
(C) =g s &
(D) G WA ST SEw
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(A) SRR v
(B) %1 Wt
(C) BefRE Txiiefq ;
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Teservatinn uled Cast
Enimﬂ Raj institutions? Sl

(A Rajasthan

() Assam

() Sikkim

() Arunachal Pradesh

120, With which country has India recently
signed the Eeonomie Cooperation and Trade
Agreement (ECTA)?

(A) England
(B) USA
(C) Australia
(D) France

121. Which state among the ‘Sixteen
Mahajanapadas® was successful ultimately in
founding an empire?

(A) Koshala

(B) Kashi

(C) Magadha

(D) Panchala

122. Inacricket match, 5 batsmen A, B, C, D, E
scored an average of 35 runs. D scored 5 more than
E. Escored 20 fewer than A, B scored as many as
D and E combined. B and C scored 75 between
them. How many runs did C score?

(A) 45
(B) 55
(C) 20
(D) 30

123, Who was the first historical emperor of
India?

BWP/23°

119, fiwfafes aeofan sigo erafes swmoeé
e efebione ewfafn wfeom ee e
arayl oty

(A) el

(1Y) &P

(C) P

(D) wewnnem ==

120, (91H (e #ney €A Arafeswm
Bl cora e s U GBS (et
Herufre wae afifers pfe) st ware s

(A) e

(B) W% Teap

(C) we3femn

(D) =%

121, ‘CIIG* SRR a7 A0 W R
TEJOAA-GA (PTG STACE o= HIHIE] 4G 613 ¢
(A) ™
(B) =
(C) =y
(D) #we

122, «w=fb fF2h cvom A, B, C, D, E %108 35 7
%t | D, E-9 (¥0® 591 (af< 302 9at E, A9 (U0
20 39 IW 3| D, E-7 fiffe ammem B s
B 6 C 93ANE 75 3 302 | C %1 € 7 I P

(A) 45

(B) 55

(C) 20

(D) 30
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() I‘milwllm of hm,lillu uml ship
repairing

() Petroleum reflvery and production of
halteries

(©) Petroleum refinery and ship repairing

| (D) Petrolenm refinery and Chemical
Fertilizers production

125, Which statofunion territory has launched a
13-point Winter Action Plan® 10 control air
podbation?

(A) Punjab
(B) New Delhi
(C) Rajasthan
(D) Harvana

126. The British Committee of the Indian
National Congress was started in 18389 under the
chairmanship of:

(A) Dadabhai Naoroji
(B) A. Q. Hume

(C) W. Digby

(D)} W. Wedderburn

127. Which hormone is responsible for breaking
the dormancy of a seed?

(A) Auxin
(B) Dormin
(C) Cytokinin
(D) Gibberellin
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(B) wiferer (2 (NI @ T £
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(D) wifFve (1 RIS G ARTHER

125, wlawArd (1 AE/ T T Hy
1 5+ BRBTR S HI o7 A 3 T
el wara A Y “',

(A) g
(B) g ffE
(C) #rergH
(D) =frme

126, 1889-a 77 Felfery SREH W Hiem
faft« 2Rl oo s R & :
(A) "MT=iE ozl
(B) 4. 6. fZes
(C) wifge. faafd
(D) ©ifgs. emrerEar

127. ﬁrﬂaﬁwmmmﬂmt
(A) ==
(B) wafim
(C) AR
(D) ferzrrafam

128. G o7 1o et SR
(A) =G ey 8
(B) =+ &
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(D) Hejtmf
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(29 Which nhlh (following: |
Aiagesthe '8) 1._,1"4 ovemme
'\l‘lhhl e
| @ Mﬁuﬂ‘iﬁ?
| (B Mﬁﬂﬂl&la
(€ Charter Act of 1853
(D) Charter Act of 1833

110, Which Asian country is the host of 2023
BA Women's Waorld Boxing Championship?

(A) Sr Lanka
(B) India
(C) Nepal
(D) Thailand

1
131, 1f f{-‘f}=y +F+2 . then the value of

fl=x) 18
(A) f(x)
(B) =f (x)

© f [- lt)
o (3

132. If the seventh day of a month is three days
earlier than Friday, what day will it be on the
nineteenth day of the month?

(A) Saturday
(B) Monday
(C) Sunday
(D) Tuesday

133. The ion of an element has three positive
change. Mass number of the atom is 27, and the
number of neutrons is 14.
tlmmnsmlhuim?p

(A) 135 L T

-mutfa: Py

(B) 10

Whatlsthcnumbﬂﬂf
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(A) 1793 fiptisa Biv Bt
(B) 1813 fmema sivm =iz
(C) 1853 fipbiara 56T SiEs
(D) 1833 fbirsr 5w =&

130, T ceR e 2023 SRR, e s
e, afegaiiret wfbe wat

(A) Eww

(B) ST

(C) (=1

(D) «EFre

131. f{1}=5'+—;7+3.f{-x}!ﬁm

{(A) f(x)
(B) -f(x)
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135. For a floating body to be in stable
equilibrium, where should its centre of buoyancy
be located?

(A) At the centre of gravity

(B) Above the centre of gravity
(C) Below the centre of gravity
(D) It may anywhere

136. In the service sector the most modern and
developed economic activity is
(A) Tertiary activity
:‘ (B) Quinary
(C) Quarternary
(D) Secondary

137. Which of the following are known as the
Bombay Triumvirate?
(A) B. G. Tilak, G. K. Gokhale and
M. B. Namjoshi

(B) Ferozshah Mehta, K. T. Telang and
‘Badruddin Tyabji

; {C‘j B. G. Tilak, G. G. Agarkar and
i - G. H. Deshmukh

: }»'-Dadablm Naoroji, K. T. Telang and
R. G Bhandarker

138. _t_[;gf""f cotton tem]enﬁll,inlndmwum
up in
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(A) ST
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(D) T T T e
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(B) &M
(C) eI
(D) Tgfs
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139. whercw&sﬂm“
(A) Purushpur [
(B) Jalandhar
(C) Kashmir
(D) Pataliputra

0. A muslim organization, which
Juring the First World War that Mushn?ﬂm
,unr:np.:ue and try to reach an accord e

eress, Wis
(A) Mushm League
(B) Ahmadiya Movement
(C) Ehrar League
(D) Deoband Movement

ll'-""

141. Madan Lal Dhingra murdered Curzon
Whyllie in London in 1909 as a protest against

(A) the indiscriminate arrest of the
Ghadarites.

(B) the inhuman transportation and
hanging of Indian youth.

(C) the imprisonment of Lal, Baland Pal.

(D) the Partition of Bengal.

142, A, B, C, D, E, F arc seated around a
hexagonal table. A is seated opposite B, who is
hetween C and D. A is between E and Fy while E
is to the left of D. Which of the following pairs is
facing each other?

(A) (E,F)
(B) (D, E)
(C) (C,E)
(D) (C, D)

(B) elected dimgtljrb 2

(C) n-:-mmntad by Br

(D) reprrcscntc Gii_'rl‘f leJ
Slﬂlﬁ.

140, &3 o Feardet cu e Fengres
mm“mmﬁwmwm:gg
S R S e 3w B, oo

(A) e fan

(B) =resfim were
() = fant

(D) ST W=

141. 712 =fEamd 1900 e Hetm <9 = fie
e TP T wEReW O
(A) o= «igira idsma arrem
(B) =M q e FEpm e ¥
(C) =-qPt-wlH -0 ST
(D) TR

142. A,B, C, D, E, F <= 7o wigfea ofm
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145, Who started Faraizi movement in Bengal?
~ (A) Titumir
{(B) Kunwar Singh
(C) Digambar Biswas
(D) Haji Shariyatullah

146. Who was Mihirkula/Mihirgula?
(A) Saka king
{(B) Kushana king
(C) Huna king
(D) Pahlava king

147. Who is the head of the cnmnussmn for the
sub—megmmnn of OBC's?

{ﬁ] Justice G. Rohini

(B) Justice Uday Umesh Lalit

(C) JusticeD Y Chandrachud
(D) Justice Sanjay Porel
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144, Fre SETEH TR T " .
(A) T "y

(B) fasl
(C) =49

(D) 54

145. WWMW
(A) fegfa
(B) =mwmma fie
(C) fAsraz fedr
(D) @fE =faargm

146. fifgag=/fifaed @& Reme
(A) == F1E
(B) 19 Ar&A
(C) o =ren
(D) #z3 Fre
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H_i}_ In Illdi-l ._;:f
wﬂpamﬁvcl]r 5 ..-5 :
. (A) Demand for

(B) Most p:oplé -
power for dairy pro

() Most milch cattle are |
(D) All the reasons above

30, In India the main textile fibre crop is
(A) Jute
(B) Cotton
(C) Flax
(D) Til

15l. All revenues received by the Union
government by way of direct and indirect taxes,
money borrowed and receipts from loans given by
he government flow into

(A) the Public Accounts of India.
(B) the Consolidated Fund of India.
(C) the Contingency Fund of India.
(D) None of the above

152. Baking soda is a mixture of
(A) sodium carbonate and acetic acid
(B) sodium carbonate and tartaric acid
(C) sodium hydrogen carbonate and
tartaric acid ;
(D) sndiurnhydmgmcarbunﬂtﬂandmc
acid X

153, A metallic ball has a spherical cavity e

“entre, If the ball is heated what happe
Cavity? an

U R
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(©) e vz Adem
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(D) oz o wrataf

(A) =
(B) =+
(C) 1
(D) fem
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(A) BEEA ARFES WET-4
(B) ©HTEA GHiTs TLAA
(C) =rarea #owra™ T
(D) B+EE AL 7

152. GERR Girew fie 41 :
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Name the king whose
dﬂi‘ﬂbed in Nanaghat imcripﬁnn.
(A) Satakami I .
(B) muumiputn Satakarni
(C) Vashishta Putra Pulamayi
(D) Yajnasri Satakarni

155. Which institution has released the
‘Adaptation Gap Report 2022°7
{A) NITI Aayog
{(B) UNEP (United Nations Environment

Programme)
(C) WSF (World Social Forum)
(D) WEF (World Economic Forum)

156. Which country has passed the gender
recognition reform bill?

(A) England

(B) Scotland

(C) Italy

(D) Switzerland

157. Dadabhai Naoroji was elected to the British
House of Commons as a member of the
party.
(A) Conservative
(B) Liberal
~ (C) Labour
(D) Labour-Liberal combine
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{B} Ismr.'t I
() Ruuil
(D) USA

165. Five boys A, B, C, D and E play a game of
cards. Each boy has 10 cards, E borrows 3 cands
from A and give away 5 to C who in tumn gives 4

to B, while B passes 2 to D. How many cards does
D have?

(A) 9
(B) 10
(C) 11
(D) 12

166. Abirdissitting in a wire cage hanging from
the spring balance. Let the reading of the spring
balance be W . If the bird flies about inside the

cage, the reading of the spring balance becomes
W.. Which of the following is true?

(A) W,>W,
(B) W,<W,
(C) W,=W,
mel
(DI

2

165. e At A, B, C, D,
areyee @108 10 6 716 WL | E, m ,U
mc-:smmmnﬁfﬁﬂ(:wmm :
B @ 94 B 2 6 %6 D-(% 0 | D-A %M
HITE 1

(A) 9
(B) 10
(C) 11
(D) 12

166, =i mnﬂmmﬂmm
g2 +f1f¥ AmifeE | W, 2= Pl we

mw%@nﬁmmmﬁm
& s

(A) W,>W,
(B) W, <W,
(C] WI =W,



o oundedaNational Socicty, N
,National School and Nati

g8
’Pj[nl'lhﬁ 19th c:cnmrg?s_. o
(A) Jyotindra Nath Tag, W i
(B) Rajnarayan Bose
() Nabagopal Mitra
(D) Satyendra Nath Tagore r ;

169. Meaning of Man — Land ratio is

(A) the ratio between the total population
and the actual utilization of land in a
country.

(B) the ratio between total land and total
population of a country.

(C) the ratio between the total plain land
and mature population of a country.

(D) the ratio between total agricultural
land and total male population.

170, Between whom was the First Battle of
Panipat fought in 15267
(A) Babur and Ibrahim Lodi
(B) Babur and Rana Sanga
(C) Babur and Sher Khan
(D) Akbar and Himu

]",1- The largest centre of Pape
ndig— :
(A) Ballarpur
(B) Salkia ]
(C) Nepanagar ;

<. G RN

(A) mmmammﬁm
wfiz S |

(B) O GAf6 & '@ GG STepeTe HePirs |

(C) (T3 GG 7= &l & Seams Jst
TS| _

(D) Cf<= =M% A e & =[Feas Tl

170, 15260 = AR Y8 0 T00 WIS
=t Oty :

(A) wﬂgﬁacﬂtﬁ
(B) 33 1 7
(C) 317 8 O A
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172. 'T‘; 1"ﬂ|jq"'~'; in

173. The efficiency of a Carnot engine working
between 227°C and 27°C is

(A) 100%

(B) 50%

(C) 40%

(D) 20%

174. In which substage of interphase is DNA
doubled?

(A) G,
(B) S
(C) G
(D) Gy

175. Population explosion took place in India

during
(A) 1921 — 194]
(B) 1901 — 1911
(C) 1971 — 1991

i (D) 1961 — 1981

{‘fr‘l‘_} ‘!'HT : 1
(B) Liag
“"E-J::I l “l M ..'.:'-"' R

173. 227°C 4% 27°C THEA 3 '-f_rf:l.

w1 o Tl T
(A) 100%
(B) 50%
(C) 40%
(D) 20%

L b R
(A) Gy
(B) S
(C) G2
(D) Gy

175. 1T SHQUTPRE 1 w5
(A) 1921 — 1941
(B) 1901 — 1911
(C) 1971 — 1991
(D) 1961 — 1981

174. DNA-~g7 #ifz1e o 20 TOmwee (s
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182. Which Indian state has declared Malakhamb
as its state sport?

(A) Kerala

(B) Assam

(C) Madhya Pradesh

(D) Rajasthan

183. Which of the following consitutes a capital
account in the Balance of Payments in India?

1. Foreign loans
2. Foreign Direct Investments
3. Remittances from abroad
4. Portfolio investment

(A) 1,2and 3

(B) 1,2 and 4

(C) 2,3 and 4

(D) 1,2,3and 4

184. Which provision of the fundamental rights
is directly related to the exploitation of children?

(A) Art. 17
(B) Ar. 19
(C) Am. 23
(D) Art. 24

185. NITI Aayog has released the “North-East
Region District SDG Index” with the support
from

(A) UNDP (United Nations Development
Programme)

(B) World Bank

(C) Asian Development Bank

(D) IMF

186. Which of the following factors caused the
greatest racial cleavage in India before the
foundation of the Indian National Congress?

(A) The llbert Bill Controversy

(B) The reductions of age for entry to the
Civil Services

(C) The Arms Act of 1878
(D) mn?mamlar Press Act

B-36 }5'-“. &

lsz.wmmmmﬁm?f i

F1rETA TeTeE e AT 1 T A
(A) cm :
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1. Fmaf =

(A) 1,24%R3
(B) 1,243%4
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. pimdthe leastnumber added o
P _l 4 perfect square, 8798 x 8792 1
a ki i 1‘ 31. m w m m-“
l\'l i mﬂﬁﬂf“.mm m‘l Hﬂﬁxﬂm
(B) 4 (A) 7
(€) © (B) 3
(n) 2 (C) 6
(D) 9
< An iron ball is heated. The Percenta
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A density ‘Tﬁﬁﬁ‘iﬁ a1 AT A
i) surface area (A) T9%
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D) volume (C) T
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189, Which sector contributed the most to the 189
: - . oS T %
Crocs Value Added at basic prices in the last Famsm @ wﬁiﬂ ﬁ?"’m:mmm
. \} Public administration, defence and (A) S S0, ezl @ SO AR
5 other services (B) 'ﬂﬁq-ﬁmﬁ cot=ira ATt
B) Financing,real estateand professional (C) Fa=ETS Bewr, i, e TH
SETVICES | T AAAAL
(C) Manufacturing, construction, (D) e, e, oifme & s 1
electricity, gas and waler supply 3
D) Trade, hotels, transport and
communication
f
f M. A Public Service Commission Was 190, ST FeteE AR A G i e 2
i sstablished in India for the first time by pie R AR
(A) The Indian Council Act, 1982 (A) 2w ST w13, 1982
(B) The Act of 1909 (B) 190948 S
(C} The Government of India Act, 1919 (C) lg]}ﬂm i e
(D) The Government of India Act, 1935 (D) IQSMEWWW
:f | : et v G o L)
91. In Assam the Tea Research Centre is al '
{A) Guwahati
(B) Jorhat
(C) Tejpur
(D) Digboi










